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Solve questions (1) to (5). Show your work:
Q1. Set up the integral to find the following (Do not evaluate integrals):
’__f-_,_———-—a‘—‘——ﬂ‘_"'

a- The volume of the solids generated by revolving the shaded region about the line y = 2. (3 points)
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b- The surface area of the solid generated by revolving x2/ 3 + y2/3 = ‘az/ 3 in the first quadrant about x-axis.

(3 points)
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c- The arc length of the curve y = sinx — x cosx » 0<x<mn(2points)
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Q2. Find a horizontal line y = k that divides the area between y = x? and y = 4 into two equal parts. (5 points)
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B 00
Q4. Find the limit of the sequence {1/;1- (\/n +5-— w./ﬁ)}ﬂ= . (4 points)
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Q5. Which of the following series converge and which diverge? (Give reasons for your answers)
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e® . (3 points)
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